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-1 ZREAERET

<&®EE @RIV ZERO >

- 72 H =
FHr 43.83
i AT 303
Tt 1.72
XA 0.47
BekE 1.11
a8 &t 50.16

(BfL: m2)



2-2 ZFXEMEIE

HEE
(1) E#7
1) G1
H-600 % 200 x 11 x 17 x 12370
A=1237 x 1 X 103.0kg/m  x  0.0189m2/kg = 24.081
(THAUT—2Tvo&Y)
PL 90x8x566
A =00 x 2 x 0.566 x 5 = 0.509 m2
PRAR 53 22 B%
A=-020 x 12.37 x 1 = -2.474 m2
AL{RI #7FE 53 22 BR
A=-020 x 050 x 1 = -0.100 m2
AR #TFE 53 122 BR
A=-020 x 050 x 1 = -0.100 m2
G1 &t = 21.916 m2
2) G2
H-600 % 200 x 11 x 17 x 12370
A=1237 x 1 X 103.0kg/m  x  0.0189m2/kg = 24.081 m2
(THAUT—2Tv o &Y)
PL 90x8x566
A=00 x 2 x 0.566 x 5 = 0.509 m2
PRAR 53 22 B%
A=-020 x 12.37 x 1 = -2.474 m2
AL{RI #7FE 53 122 BR
A=-020 x 050 x 1 = -0.100 m2
AR HTFE 53 122 BR
A=-020 x 050 x 1 = -0.100 m2
G2 &t = 21.916 m2
INET = 43.832

m2

m2



(2) SmAgHT. TAMT
1) dimA& 4T (A-AWFTE)

[-250x90x9x13x2220
A=222 x 1

FRAR ST 2 BR
A=-009 x 222
PL(EE#HREIM ) #2Ex
A =-009 x 0.25

2) & #7 (B-BiTmED)

[-250x90x9x13x2220
A=222 x 1

PL (EEMMI 57) 5%
A =-009 x 0.25

(3) &
EUTEY A = 0.042
{8 EB oAl A = 0.017
RIEBMA A A = 0.004
+m A = 0.071
FHT A ZRR A = -0.038
4) BEKE

A =01143 x T

X 34. 6kg/m x 0.0235m2/kg = 1.805 m2
(THAoT—3Tvo &Y)

x 1 = -0.200 m2

x 2 X 2 = -0.090 m2

INET = 1.515 m2

IntEMT = 1.515 x2 B&fr = 3.030 m2

X 34. 6kg/m x 0.0235m2/kg = 1.805 m2
(THAoT—3Tvo &Y)

x 2 X 2 = -0.090 m2

INET = 1.715 m2

T = 1.715 x1 & = 1.715 m2

x = 0.042 m2

x 2 = 0.034 m2

x 2 = 0.008 m2

x 1 = 0.071 m2

x = -0.038 m2

INET = 0.117 m2

K& = 0.117 x4 EFfr = 0.468 m2

x 0.77 x 4 = 1.106 m2
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3.1 EBEI (EET)
(DHFTER MFESH - (£DOY it %

HETHEE

- [ & B ES L JEX t ESSWNT Y- W i 18
DLl AL () () () BxL(m2) | BxLxt (u3)
1-1 AN 700 700 50 0. 490 0. 0245
1-2 AN 150 400 30 0. 060 0.0018
1-3 AN 700 600 50 0. 420 0. 0210
1-4 AN 1, 000 750 30 0. 750 0. 0225
1-5 AN 250 900 50 0.225 0.0113
1-6 AN 500 400 50 0. 200 0. 0100
1-7 AN 300 200 30 0. 060 0.0018
1-8 AN 200 200 30 0. 040 0.0012
1-9 AN 900 1, 400 50 1. 260 0. 0630
1-10 AN 500 200 30 0. 100 0. 0030
1-11 AN 700 1, 400 50 0. 980 0. 0490
1-12 AN 2, 100 750 50 1.575 0. 0788
1-13 AN 300 150 30 0. 045 0.0014
1-14 AN 100 100 30 0.010 0. 0003
1-15 AN 450 150 30 0. 068 0. 0020
1-16 AN 250 150 30 0. 038 0.0011
1-17 AN 450 250 30 0.113 0. 0034
1-18 AN 1, 300 750 30 0.975 0. 0293
1-19 AN 1, 000 750 50 0. 750 0. 0375
1-20 AN 300 300 50 0. 090 0. 0045
1-21 AN 600 100 50 0. 060 0. 0030
HiFE &3 8.309 m2 0.3704 m3
(2)EEE WEEE- EOYEER
- o & B EX L JEX t SN Y5 W i 18
DLl AL () () () BxL(m2) | BxLxt (u3)
2-1 Hh7E 300 300 150 0. 090 0.0135
2-2 Hh7E 900 350 50 0.315 0.0158
2-3 Hh7E 200 100 50 0. 020 0.0010
B a3 0. 425 m2 0.0303 m3
(3) FERT BrmE{E1E-IEDYEEE
o g & B EX L BEX t 1LY g Wrim{&1E
izt L () () () Bl () | Bxlxt (m3)
Al-1 ALKB S 300 700 50 0.210 0.0105
Al-2 ALKB S 700 200 50 0. 140 0. 0070
A2-1 AEH 400 1, 000 150 0. 360 0.0180
A2-2 A2FBH 100 100 50 0. 360 0.0180
A2-3 A2BH 1, 300 300 50 0. 360 0.0180
TEHT & 1. 430 m2 0.0715 m3
a 10. 164 m2 0.4722 m3

152 X=0.4722m3/10.164m2=0.05m




4 REERL BEEFHE

bl Al i AL =% 1
T HLER m2 50. 8
KA EE a7 k3 VCITIH m2 50. 8




4.1 REERT H=E

(D) RHEERT
@©A= 0097
@A = 224
@A = 099

HEE
X 12.42
X 11.80
X 12.42

12. 05 m2

26. 43 m2

12. 30 m2

50. 78 m2



b WEEENZ NABE T ELEFHE

4 AR PSR AL 8K 8 i
BEE LK NARFE T
BEINHEE L Z L m3 0.01
U /NS m2 0.2
Fov s 10~20mm m2 0. 31




51 BEEILZIVEET HEFHEESE

(1) U HE £ L & v
V=(0.50 X 0.30 = 0.01 m3
-( 0.20 X 0.20 + 0.20 ~ 2 X x/4))
X 0.045 X 4

(2) B
A=(C 0.50 + 0.30 )X 2 X 0.025 X 4 = 0.2 m2
B)For s
A=(C 0.50 X 0.30 = 0.31 m2
-( 0.20 X 0.20 + 0.20 ) 2 X w/4))

X 4
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6.1 EBREHR

T k-8R =-Riv] Al A2 55 ik
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OFEL AT
OfEfEEEARK
ZE& 3610 (m)
ARSI 4 (K)
HiEEEER 3610 (m)
B/ b 0 (&P
59301 D16
S1 3610 (m) 4 (X) X 156  (kg/m)= 2253 (kg)
EmHTUh— D16
(@200) 3.610 (m) 20 (&/m)
= 72 (K)
OQavy)—k
BITHIRGEEAD 0.300 (m) BITHFRIGEEAD 0.110 (m)
#ITH MR MDD 0.300 (m) FITH ERS(ERRRED 0.110 (m)

#ITBaVH1)—+

3610 (m) x
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81770 —FHET HEHHEE

(1) BT He T
1) FETL
A= 3.7 + 3.8 = 7.5 m2
2) RpEiE
A= 3.7 + 3.8 = 7.5 m2
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0.1 FEMEEEBT KEHEE

(1) B 2 L
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XFE
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SR
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1. EEWEE L T BEEEHSE

£ R #m il FST A S BT % & T C2)
s EE L T
a7 U—Fk _ {4 R
FE VL | Co t=1lcm m3 0.5 e,
T A7 7L b _
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1.1 BEYRELT HEHEE

(D=7 Y — MEEHBUEL ST 1)
= 0.48 m3

V= 061 X 361 X 011 X 2

(2) 7 A7 7 v MEHEERUE L (7 7 1 —FH)
A= 3.7 + 3.8 _ S

(3) &L LT (As t=4cm)
L = 3.61 X 2.00 = 7.2 m

(3) &2 BT (Co t=11cm)
L = 3.80 + 3.99 = 7.8 m

(5) R E R AL
TR LB (HE A7 Co)
V = 0.48 = 0.49 m3
+( 0.50 X 0.30 -( 0.20 X 0.20
+ 0.20 2 X w/4))

X 0.02 X 4

AL (As)
V= 75 X 0.04 = 0.30 m3
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ZA o ml B ETVARNE ' & ]
TGan

w0 Ry A3 m2 55
IR I y— 1B m2 55
77 AN A -b m2 55
L g - v— Mg m2 55
o e E m2 20
F-BERR m 2.6




